83 Properties of Loparithms Homework s MW%

Evaluate each expression without using a calculator.
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Graph each function. State the domain and range and write the equation of the asymptote.
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Identify the equation of the asymptote of each function.
18. £(x) = logs X 19. £(x) = logs (x - 4) @ 20. f(x) = |ogI ‘I . zl -3

Expand each expression.
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Condense each expression.
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Use logs3 ~ 0.6826, logs4 ~ 0.8614 to approximate the value of each expression.
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*Use the change-of-base formula to rewrite the function in Termsof common logarithms. (See 8-6)
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